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SUMBRPH MPV % 2 DXQWV U DBWNOVD 8$% WRIDX % 2 /IHMYD P 1RIPHSHXW% 2 MSOUHIRWP A \NDWMWWDXP A WHAN \DYR RUDQ] DA WAN U
WNJIGXP RSIDH IP A 0 HY % 2 /IHMYD QINRP XV ( XURSRV6AMQIRY (6 UWHIOP HQR NIHQN YHNBW 7YDXP DV \ WD HWP IQV HBP HYMY NXUDQN IODDINI YHW Y\WRP V
I IHMYRVSHSXEDNRY /5 1ICDQUQL. DAVNOW DXAVR IWBAP RUHNDDMP R P IQMRP VAKXIQMHAKRRMRP V DIP V

NOG/ IHAYRY DMMRRY YIH RRIQMIHAR PRI 9,1 DXQUK DAINMRVIP RVSUYDR % 2 /IHMYD LGP RV SDMXIRY JDD SDGAW NDHQAPV HHNAMLL WHIXRW |
WNHBW P HAQXV WIGXPR SIDCHIPXY IV % 2 /IHMYD P WIGXPR CBINRDXIRY \RADIXVIUYD® PRL ' NXVEH WR SO X SDOAMNXMNASDANP A U
SUDCH [P DVDWAQND (6 UHIOP HQR I/ 5 ICDMQY. DANIW DXAWR IWBNVP R VNDIGUA CHILCDQUQUIQ RUP CAM IQYHIYRRTP VIUNVRP VWXIQMHAMRRRP V DIP V
UHNDDYIP XVIUCSIP D% 2/ IHMYD ILCDQMQXV P HA SDUEDLIXMXV P JURGIR (\VOP HMSDUHIRMMHNAMWOXP R IUKP D IQMBUA L QINDQWHI®R DXIIP A 7YDXP DV
PxQ G WIS SDANUDXYWQ DNMDTAIQRUP CAM NOIS IWDXN VRV NRNL EXV SDWDX)/ WANP DV IXR P HX \ D IHDV L. SURIMANMY. P
ICP HSWDCH 1P HVIENDP HIQ RP XRAKQMIAKRWMDY DIV DSIHVEL NS VREXQQEP L GUERWDNY NDXVP /0 HY MENDP H URG WWWUIICP A SDV |G UQNRW IUSCE: WNOIS
\DYR YIGDXVNRQARGV MMAMP A P HY QROWMBUCP HDXGAWRNRN U YDORP HUJ INDVIU  WOUEX\ IDSHHWQXR : RG L SUHUWDD YHNWP / P UKW 2 WONDV SUMMQI%
L@OINRP HVDYR NOS DXQVRW.  GHSUNDXWRP XP A SUH GHAADDXY SRYHNR NIP DMLMENDG I 1IQDQUQL SDVDX)/ \WINWI DIBQR LUNOS
0'V SDIUQEQY WAV \WD X WAIQAN DN IDMRY NN ExV DXGWR SDOXIDV  SDIX@x RJDQ] CAND SUMIP CP H DMNRP \ EUIN. P SDUENAGHODD |OFCP R
DAHNCP D/ GHSUNDXWRPOL A IQQIDL REWMINWYIDL U YDERYDXIVQA SIRHMQR  HHNEK\NHIDG 1L GM HP IMRVOJi
WNHBWA]P R SUCASX 700 E WD MENDQAVVIEUIDXAW YIH DEP  IOMMAL LU VNDWMW 1 XPDRPD NOG (6 iPRQY IQRP CANY DSH WOUP A WINPR ' IWNAMYD DQIO
IQDQIQ, DAWNDOW IQRP CANY YDURRY SDUMRKNP A $XN VRV NRN ExV XAV  &RERIDM 6XWHICHON 5HSRWY) ' IWHAWYH VRIDX  &65' 1 / IHMYRV SHEXEMNRY
VADACDIQHARNIVIURNRGRP LY DXIIP AVIAS NXUDQAKO DDIND YHW YIVKRP HOH- CARDIIXV WAVKY DNV \MULE W SHNHDE IN /M @BRY &65'° QRWBRYEXV
. GHQAL HIXORRNIL EH. NVRY \KQMHRRIRY DOV WAM. NOG NHWHRA X GRW VNP RV OGIS\QLNDL W QP DMA NHMUL &65'° WINPR HESDL N SILP RR
DANP H SIR FMRQDIDL VRGKOMENDP H QRDMEEXGEP L WKW DSONA. NXURW DMWY SHIREDY NX SUDIGHR P \DMR G L' IUNNVYD SUDG IR WKV
DXQWRUCL JDBW WINADXN | IDXAMRY NRNL EXV SDUXIDY 70LC8P DVEGRAY)/ (PRY  MINRVAG IDAMEP VP V' NIHQAP V R Y<IDX IUNWHP V
iMBEQPA PRNPAIUXIGPA ICRDM WHKGRRIIM GHIIP A HHNWYDXV DR 6IHNEPL WINPOL SDIDRW IRV ' WHNWYRY I\ YHQAQP XL PH/ DNAMYILL
VADAGIP AIUDXGVRNRP DG GDUER NRN EXVYHWAP A EHQEDEHEDMP HVXNW DI % 2 QUKP [V NXURVNIX \ UD\MNDXSXMRY SDAMHY IR
BIENTP LIHIQNDXAWR NN BU P JURGIR G iGH*P H7DBIXWG NRN EXV WM 70S SDV MHNCP H NHOY NYDRUNCAM HOP/  BH. iUHQN XMV DXAWR
YD PR WEQEDWK  7.96  NXUV UHNDDXND \MANKO iGQHDW. LU WEXW NRNL EXV \SHADDMY NXUHJIDSW DANADXGVR IUWDXP RX: WRUIQP R SDUDXIDV
YOB PR MMPA % 2 RUDQICAMY SRLEW i 7.96 WPIDL P'V SDIXAH . YIH IDP H YWDV \XIQMHMREMDY DIV NHSW/ i P XV GOEHMNRN.  IDP H SUDCH [P H
IQMIWIAND IURVP OV% 2 SURFRVOY EH.NRQARGP [V \NWYIY QRN HIQMUSDDIN W DSV NDXMP /
DXQWRNN EU

P UOWR G SDIEDUIXVCP DANIMOLP OINRVELSEXDAINRP HSP AVIP HAGY
NRN EXV YD@ P R MMMP RV IXQ\ARDYIP R YHWQP A P JURGIR GDPXR
NXUCP  SUMNLY JDOMOQx DAVONRP \ Ex IUIJDIRWP OLX: P' V' iP RQVNRN ExVYD@® PR
MMMP A SDIMN« L YOGA NDG% 2 / IHAMYDNRN EXV YD P R VIMAMP D YHND H HNAYIDLIU .
\XWIND SCNDQNTP A X WALIQP A NDGNRNL ExV YD P RWRMDL\ UDSDMHNA 9IQMDBILIML LH X
% 2 / IHAYDVENDNXUAMODDIND YHW EERRIP V NIHMP VIUYMVKRP HH. " WUNRX /3
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